Ksp worksheet:  Finish for homework, hand-in when done. Name:

1. PbSOss) 2 Pb?*(aq) + SO (ag) [Pb?*] = 2.0 x 10" M Find the value of Ksp.
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2. Solid aluminum hydroxide dissolves into its respective ions at 25°C.
Given that [OH'] = 1.5 x 105 M, fnd the value of Ksp. G (O K)a 6,—-)04 " 30Yy-
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3. Calculate the solubility of AIPO4. (Ksp = 9.8 x 1§2")
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4. Calculate the solubility of MgF2. (Ksp = 6.4 x 10-9) KJ P = HG . y2E°~
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5. Solid Agl is added to a 0.200M Nal solution.
Calcuiate the solubility of Agl (Ksp of Agl = 1.5 x 10-'8)
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6. Solid PbCOs3 was placed in solution of 0.100M Pb(NO3)2. Calculate the solubility of
PbCO;3 (Ksp = 3.3x1014), tsp = (P o, * 7
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